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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q.1

Ans

Q.2

Ans

Q3

Ans

s X Arasma Yy zEshwaHaaYyFsRafrseas aw
Frar X & gl

If Mr. X has two sisters, Y and Z, and W’s mother is the sister of Y’s father, then W’s
mother is X's

==/ FHtEy gﬁm G ATAT

1 Aunt
ggeT

Kz. Sister
e

?{3,Mother
FCVAGIG]
?’\'4,Grandm0ther
HoFd ¥ W a0 & 7 F8H 10 kg FIAE & T aF7g W o« 10 N &
T T A, @ e A @ Fla-ar wue @y gem?

When a force of 10 N acts on a body of mass of 10 kg that is able to move freely, which of
the following statements will apply?

T 1 ms™2 & @&wor F aIfa HaEm
+'| The body moves with an acceleration of 1 ms~

T 1m/s &1 arer & 17T HE

<, The body moves with a speed of 1 m/s
TP 10 ms™2 &I wROT & IS HLEM|
K3. The body moves with an acceleration of 10 ms~
S 1kmy/s &1 = & a1fT HEm
7<4 The body moves with a speed of 1 km/s
v fafasa Fdwa 4° u¢ gt 31 oK g wEw F G T R &
eI BT g, af STifese e $T adias Fary fhaer g ?

A television show lasted for 4% hours. If %th of the total time was spent on advertisements,

2

2

what was the actual duration of the television show?

Question ID :9864493988
Status :Answered
Chosen Option :1

Question ID :9864494990
Status :Answered
Chosen Option :1

Question ID :9864494590
Status :Not Answered
Chosen Option :--
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W smamr AR FeMaTTRaa T FEIRBTmAFEsdasa Question ID :9864492853

Status :Answered

Wﬁﬁ@ﬁ%mﬂmmm%‘? Chosen Option :1

‘What is the measure of the smaller of the two angles formed between the hour hand and
the minute hand of a clock when it is 6:44 p.m.?
Ans ¥ B2°
<, 625°
<3 835°
<4 84°
Q.5 Question ID :9864495023

Status :Answered
Chosen Option :1
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70 90 50 85

55 80 95 60

o

faw
w
X
Y

60 20 90 40

Z 90 80 40 65

O & a1 arfaer = oEt WX, Y, Z @ 9 fawst P, C, B, M # faw
3R @ AT ¥ 3 gedw fawwr & e 3w 100 €

P & =RT o & dAud 3% Fa 82

Stu/

Sub

il 70 | 90 50 35

90 | 80 40 65

The given table represents the marks obtained by four students W, X, Y and Z in four
subjects P, C, B and M, with the maximum marks in each subject being 100.

‘What is the average marks of the four students in P?

Ans W B68.75
<, 68.25
<3 68
<4 685
Q.6

Question ID :9864495155
Status :Answered
Chosen Option :3
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Ans

Q.7

Ans

Q.8

Ans

Q.9

v Afad fHg 'O’ Amr g% X g, faeg A de ugEe & forw 20 fereiteier 9 fEan
T 3R T §, aifg Hsar & 3R g B dF g & feiw 10 frelidicy & amr a7
el 8, cifged #sar § AR fdg 'C' ok agael & faw 9 ferelehicy 1 amr e &, arfeet
A3 g ‘D' dF Tga & T dg 5 Rheilelicy 1 I T 8, 39 918 3 H5: g
'E'd% qgde & T 12 Reelielic &1 amr o #3dr & 3R i qifge) 7130 ge g P
o 9§ & Telv 6 feheliefiey T amr 3dr g1

3% eI 3N 3ifdA g3t & dra aed w7 g #ar &2

A man starts from point ‘O’, travels 20 km towards East to reach point “A’, turns right and
travels 10 km to reach point ‘B’, turns right and travels 9 km to reach point ‘C’, turns right
and travels 5 km to reach point ‘D’, turns left and travels 12 km to reach point ‘E’ and

then turns right and travels 6 km to reach point ‘F*.
‘What is the shortest distance between his initial and final points?

< V145
<. V20
v 2
X413
ged g8 Sfafshar & FH # caafiyd 3 argsit # 6 TER A ST S 8
Common metals arranged in order of their decreasing reactivity is known as:
Selagrenstesd 3T=a= (Electrolytic reduction)
<1 Electrolytic reduction
aifafaf®r e
W, Activity series
gfafeharcHsar (Reactivity)
3 Reactivity
Jdlgehced (Conductivity)
/4 Conductivity
0.16 3T 0.64 F & FeaAETAT faaaT &2

The mean proportional between 0.16 and 0.64 is:
<1 027
v, 0.32
<3 048
<4 040

Question ID :9864493051
Status :Marked For Review
Chosen Option :1

Question ID :9864494875
Status :Answered
Chosen Option :2

Question ID :9864495156
Status :Answered
Chosen Option :3
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Ans

Q.10

Ans

Q.11

Ans

Q.12

SFefei@d fe-saer 7 3T faeeq 9o

(&) »

®

4

A B

D

Select the option that will come next in the following figure series.

(&) »

®

d

A B
XD
X2 B
Wi A
X4 C

V| CROXEGNIZI
#< . CROXEGNIZII
# 3. CROXEGNIIZI
# 4. CROXGENIZI

#1. Actinoids
HhHAUT dcd
5. Transition elements

gollateT

+'; Halogens

GorsT e Urg

4. Rare earth elements

T w5 H, afE QUANTIZING F TNAUQGNIZI forar Sirar & & sdr s &

EXORCIZING & 3% for@r =meem 2

If in a certain code, QUANTIZING is written as TNAUQGNIZI, then how will
EXORCIZING be written as in the same code?

dadl F, Cl Br, I 3 At OAAS: F0 J1H T AT SATET 872
What are elements F, Cl, Br, [ and At commonly known as?

Question ID :9864494190
Status :Answered
Chosen Option :1

Question ID :9864494703
Status :Answered
Chosen Option :3

Question ID :9864494591
Status :Answered
Chosen Option :4
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Ans

Q.13

Ans

Q.14

Ans

Q.15

Ans

U FET % 35 OISl & Fpel S9H H Fol dotel 449.75 el a1 A gedw
OIF hael Teh Thol A1 oicT g, Al Tcdeh Thel a1 H1 AT a7 fohelell 21T ?

The total weight of school bags of 35 students of a class was 449.75 kg. What is the
average weight of each school bag if each student carried only one school bag?

12.95 frairems
X 1295kg

12.84 frairems
X, 12.84kg

12.75 fareirems
X5 12.75kg

12.85 farairams
v, 12.85kg

% v Eﬁl’ ﬁ F.FITﬁTI' ag'ﬁ:r %_, S-RﬁF[ a. T T‘q. qﬁ.ﬁ_’_q.r m oIguT Question ID :9864494700

Status :Answered

mmﬂmmﬁﬁmﬁ@ﬂﬁﬁmmmﬁmmChosenOwiom]
3= ¥ fa= 872

Oxides of metals are basic in nature, that is. they combine with acids to form salt and
water. Select the odd metal oxide from the following ones.
v Al,04
<, Na,0
X5 MgO
X4 CaO
TF M A TF Feag & AHEd avaw 28° dfewaw g1 Afy @R, Question ID :9864494888

. Status :Not Answered
FIeER, AR AR TREAR # 3Ea avAe 27.5° aftwaw § 3R TeEr, Chosen Option :--

AN, Afear 3R TRER # sdtee aAe 29° dfewETw B, @ REr & e
T J9ATT haeT £ 2
Mean temperature of a city for a week is 28°C. If the mean temperature for Monday,

Tuesday, Wednesday and Thursday is 27.5°C and the mean temperature for Thursday,
Friday, Saturday and Sunday is 29°C, the temperature recorded for Thursday is

28° Afewad
< 28°C
29° AfewTw
<, 20°C
30° afcoaw
3 30°C
31° Afeaaw
<4 31°C
% deF o mﬁa; (m} & TETHATT m 208 %—l Ilﬁ.' sga; EIEED Question ID :9864494656

Status :Answered
Chosen Option :1

# 188 =gl &, A W TTAIY] HEAT AT 2
The mass number of an isotope of an element is 298. If its nucleus has 188 neutrons, what

is ifs atomic number?
w1 1100

K’:z. 488.0
K_g. 208.0
74 188.0
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Q.16

Ans

Q.17

Ans

Q.18

Ans

Q.19

Question ID :9864495041
Status :Not Answered
Chosen Option :--

VI

faw a1 R &, T 37 Al F AT § S 9w FR g F6 37 @l w6
Zeitar & os o W §; R 3o 34 S A geiar & e o @er #
3 AR H Fo AT a8, e 9w I A ¥ e e A § At
& =, Fr =7 T2

VI

In the given diagram, the triangle represents the set of people who possess a car; the
square represents the set of people who possess a house; and the circle represents the set
of people who possess gold. The total number of people who possess only one among

the three, that is, house, car or gold, is:

v FVILVI

Ko NI+IV+V

K3 V+VII

Xy IV
g & Toa= 3y 3 =Y 95w R $r 3g F O o & @ 9y Question ID :9864494582

Status :Marked For Review

FH g ¥ ¥ Arog I 71, Bragt fr amg Reer $r o # 150% gef Chosen Option :2
gy @ aaae g (39 #) frae 22

Priyankur’s present age is seven years less than thrice the age of his cousin Rihana.
Sixteen years from now Priyakur’s age will be 150% of that of Rihana. What is
Priyankur’s present age (in years)?

<120

<, 17

<3 26

v,y 23

I sind = cosh g, 3O =gs1 g dal  2sin?6 — 3cos?8 T AT Togar g7 Question ID :9864494827

Status :Answered

If sinf = cosf, and 6 is acute, the the value of 2sin’6 — 3cos?@ is: Chosen Option :3

-1
1
<o 2
R
w3 2
4.1
Q“esigr?986449473 1
Status :Answered
Chosen3
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30 ReeT & g3 L A MN X gUoT &t @ e X @5 ™7 & @gr ggor Opton:
o & T wtar & (R & medr FI)|

SIMULTANEOUS

N

Select the option that depicts the correct mirror image of the following figure if the mirror
is kept at MN (ignore the size).

M

N
Ans ,?{'1 SNOINVLINWTIS
?{'2 2UO3IUNATIUMIZ
.(3' 2UOIMNATIUMLZ
){'4 2TWNrLYwMEON?2

Q20 37 7 & 97+ & =1 FFafaf@a aag & 37 7@ 8 Question ID :9864495125
" Status :Answered
Chosen Option :1
A B C D

Select the figure that does NOT belong in the following group.

A& | 3

A B C D
Ans ‘_’1‘ C
?(2‘ A
?(3, D
?(4, B
Q.21 Question ID :9864494735

Status :Answered
Chosen Option :2
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30 A% & 98 &{ = 8T 71v By # ag e & @ér e gem

Select the option that will correctly fit in the blank space in the given figure.

Ans i Z
<.
v,
<3 g
ra v K
Q.22 I ¥ AT ) mﬂa T Question ID :9864495038
¥ For & EFQ_ S e ﬁ;ﬂ' ® " ?réi‘ %I Status :Answered
Chosen Option :2
A B C D
Select the figure that does NOT belong in the following group.
A\ |He
NV
A B C D
Ans KA
?(2. B
!’3. C
<4 D
Q23 Q“esig?9864494717
Not
Status ‘Answered
Chosen
Option :
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BTy WA ik A d T srscareaF RrE=d o
FiT T FUT gATT ¥

#; X o a¥ 2000 & frgar 3T Fare

hYel:
1. #F X & 2003 # % 7,000 35T fre, AifF 398 ganrr aw 2000 & T
I F 10% HfO=w 2
2. A Y, SR A X gt g, 7 s X garr afda afer s smer wfEa
forar & 3t 37eia 2000 # For fam #T T 9,000 fata fovw 21

Consider the given question and decide which of the following statements is sufficient
to answer the question.

How much did Mr. X earn in the year 2000?

Statements:
1. Mr. X earned ¥ 7.000 in 2003. which 1s 10% more than what he earned in 2000.
2. Ms. Y, Mr. X’s wife, earned half of the amount Mr. X earned, and they together
earned ¥ 9.000 in 2000.

. hor 1 & gaTea &, SafF ahel 2 WRA #T 3o} ¢of & forw g 8T §l
', 1 alone is sufficient while 2 alone is not sufficient to answer the question.
T T 3ol &t & forw 1 31T 2 gt e &
X, Both 1 and 2 are sufficient to answer the question.
Y9 & 3cal ¢l o forw am ar 1 a1 2 &€ g g
«, Either 1 or 2 is sufficient to answer the question.

AFal 2 & gt §, ATF Hhol 1 U & 3o o & foU gAtT A&7 2

X, 2 alone is sufficient while 1 alone is not sufficient to answer the question.

Q24 540 FMH TefiaT H FUTEAS Al HI HEAT Theleil 87 Quesnggtlul)s ;I%i?ﬁgggged
In 540 gram of glucose, the number of moles present are: Chosen Option :--
Ans X 4
<o 2
Vi3 3
<41
Q2 Far afdher e THEAfAE T § AfFT GEET & ewEr @ar & 2 Question ID 9864494575
Is Baking soda chemically different from Baking powder? Chosen Option :--
<1,

Ans & AT B SRR FEae § o9t 3 a@st aiftys sEeEae 2

Yes, Baking soda is Sodium Carbonate while Baking powder is Sodium Bicarbonate.
v,

10/24



Q.26

Ans

Q.27

Ans

Q.28

Ans

el 3Far & & @ B

Yes, Baking soda is Sodium bicarbonate while Baking powder is a mixture of Sodium
bicarbonate and Tartaric acid.

T ,F TEEfEE T ¥ TA B g
#<3 No, they are identical chemically.
<4,
g1 3fFer diEr At aeeEae § T i aEst Fees FEfae §
Yes, Baking soda is Sodium bicarbonate while Baking powder is Calcium Carbonate.
A 3T B = |1 12 Rl & & # 0 T FHhd ¢ a1 A 3Fe 57 15
Rl # a0 FFaT § | T WY T FEA YE T § AT A FE H QT
T T I0ORT R sH OIE 3T & | A 3K B & & ary fieew g e
FE fmar?

A and B can complete a piece of task together in 12 days while A alone can do it in 15
days. They start working together but A leaves 10 days before the completion of the task.
For how many days did A and B work together?

<11

v 10

?(.3.9

?(4.3

AAET 7 ¥ T #T Fua7 T&T AT 99 2 2

FU:
A A & T ASH G@RT F FIA F ToC T TAT o7
B. TUTHT FR& 1 dEH gl
C. AT 3T 7 [0 9férat & TGl F IHTET &

‘Which of the following statements is/are true or false?

Statements:
A. Pea plant was chosen by Mendel to work upon
B. Chromosomes are the carrier of factor
C. Forelimb of human the organ analogous to the wings of birds

Fao YT A WE g, B HR C 1o 2
,K']. Only statement A is true, B and C are false
Faer Fud A 3R B wd@ &, C Teid
+', Only statement A and B are true, C is false
9o FUd B WEr ¢, C 3R A 7o £
2{"3. Only statement B is true, C and A are false
Faer FU=T C T &, B 3R A T F
r.9 4. Only statement C is true, B and A are false
ARAT THS @ gl & F IIig Sheadr afgas weiva e = opfa
& Tl TEeT SRAT TS i ;M 2

‘Which is the first Indian state to ratify the GST Constitution Amendment Bill, recently
passed by the Parliament of India?
IEH

' Assam
qiEEH S
<, West Bengal

Question ID :9864494519
Status :Answered

Chosen Option :2

Question ID :9864494688
Status :Answered

Chosen Option :3

Question ID :9864494437
Status :Answered

Chosen Option :1
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Q.29

Ans

Q.30

Ans

Q.31

Ans

Q.32

Ans

Q.33

Ans

FTUT=T 92T

?"\"3, Arunachal Pradesh
AT

<4 Meghalaya

12% 1% 2T & 3 6l FT FTUROT AT 4,140 § | 8 W 9T 8% & aT

¥ 3 Iut &7 =eRadl et fhder e ?

The simple interest on a certain sum at 12% per annum for 3 years is T 4,140. What is the

compound interest on the same sum at 8% for two years?
< % 201240

v, T 1,913.60
X, T 1,840
X, T 1,886.50

fdr el &1 8% & I T W 1 I 34T 2 ASA FHT FURT =ATH T
491.68 ¥ & Faua fhaer grem?

What sum will yield ¥ 491.68 as simple interest at 8% per annum for 1 year and 2

months?
W, 5268

Kliz, T 4758
K_3, T 4906
<4 T4364

o e daw W A TaE T 3, o swr wanhe vt o &
gfafaa & s &

‘When a bullet is fired from a gun, its potential energy is converted into:
T F=r
Kl. mechanical energy
TS F=
Kz. chemical energy
FSHT FAT
K3. heat energy
aifas =
« 4 kinetic energy
= § T @ T 12 ¥ P e 32
Which of the numbers given below is exactly divisible by 12?
| 28544
¥, 57816

#3.14632
X4, 43688

AT HEAAEr snforar sig & TearTar F4r 22
What is the nationality of Indian actress Alia Bhatt?
T
K], French
farfeer
¥ British

BRI

2{"3. Malaysian

Question ID :9864494596
Status :Answered
Chosen Option :2

Question ID :9864494816
Status :Answered
Chosen Option :1

Question ID :9864493602
Status :Answered
Chosen Option :4

Question ID :9864492764
Status :Answered
Chosen Option :2

Question ID :9864492202
Status :Not Answered
Chosen Option :--
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ErC)
K4‘ German
Q34 @ & @ Fid T WHR & g & F @ TUGAS e gy araadr
F Al W T # 77061 & e wewwer g & W 7 awe te Jod W
faeTelr shotererst Frerer o LT T B2
‘Which of the following governments recently launched a free household power connection
scheme called *Prakash Hai to Vikas Hai’ for the poor in the state to mark former prime
minister Atal Bihari Vajpayee’s birthday?
3ol WeRr
W' | Uttar Pradesh
HENTSE
Kz, Maharashtra
Y Feer
/3. Andhra Pradesh
TH{IT

2

Ans

2{"4. Gujarat
Q35 {3y 3f@A=ar #r aw 2017 & Fan Tl QAR wFArfaa far smar ar?

Which actor was honoured with the Kala Ratna Award in 20177
HeTT EH:HT

1 Akshay Kumar
S{HIT Gl
Kz‘ Irrfan Khan
FH W
«'; Anupam Kher
g T WTeT
/4. Shah Rukh Khan
Q36 frafaf@a # & Fia o ¥gea T=a AN & & @i T 82
Which of the following is an island state of the USA?
foret e g
#< FijiIslands
arch @ g
5. Bali Islands
et e g
3. Santorini Islands
Far A T
¥4, Hawaii Islands
Q37 v g @1 3UR, i & TA 9% el A Iges & HYR FH
5/6 #T g1 st 3 FAWER IO 7 HwT FUSAl T 3 e
grem?

The base of a triangle is five-sixth of the base of a parallelogram having the same area as
that of the triangle. The ratio of the corresponding heights of the triangle to the
parallelogram will be:
Ans W 12 :5
Kﬂz, 5:12
X3.6:5

Ans

Question ID :9864494396
Status :Not Answered
Chosen Option :--

Question ID :9864492413
Status :Answered
Chosen Option :3

Question ID :9864494500
Status :Not Answered
Chosen Option :--

Question ID :9864494565
Status :Answered
Chosen Option :2
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Q.38

Ans

Q.39

Ans

Q.40

Ans

Q.41

Ans

X45:3
mmﬂﬁﬁwmaﬁﬁfﬂfrﬁ%ﬁmaﬁﬁtﬁmsmﬁ

TeIdr T F TET (crests) F AfT 25 ms™! § | A9 F FEar F 3ngiea =
7

A boat at anchor is rocked by waves whose consecutive crests are 125 m apart. The
velocity of the wave of the moving crests is 25 ms™*. What is the frequency of the rocking

of the boat?
X 6258t (Ha)
X, 250 8 (Hz)
X3 100 &&=t (H2)
v, 0208e= (Hz)
falt wATeR aRger # afe Bl @ & FRoT ve faegd 3UeRoT 1 e d9e a1 8 ar
a1 ¥ faegdr 3uehior -
In a parallel circuit, if one electrical appliance stops working due to some defect, then all
the other appliances:
AT §T F HE o Gl
« ;| will work normally
T 8T S
Kz. will not work
At el s § F FA WGl
#< 3 will keep working half of what they did
el &l I SR FR

< 4 will keep working double of what they did

e+ F AT -F -FIT , xFHAT s FUT - FHT + g A
16 + 4 -3 = 8 x 6 & AT F4T grEM?

If + means —, — means x, ¥ means + and + means +, then what will be the value of 16 +

4-3+8x6?
v, 16/3

<27
<36
K4 71/4
g TR Fr T FH T TF TG F IREF 97 14 3Hex 9fy Fs E 3w
3HF FuaH fig o Tgua A AT TR |
(a = 9.8 AT AT T &F3)
If the initial velocity of an object thrown upwards is 14 m/s, then the time taken for the
object to reach its highest point will be
(a=9.8m/s?)
1.43 Hehs
¥ 1L3s
1.5 HFE
X2 15s
1 HeE
X31s

Question ID :9864494674
Status :Not Answered
Chosen Option :--

Question ID :9864494915
Status :Answered
Chosen Option :1

Question ID :9864495089
Status :Answered
Chosen Option :1

Question ID :9864493439
Status :Answered
Chosen Option :1
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1.34 Hehz
<4 1.3Ls

Q% grga s o, RE 71T 3o & Rt & wfeaRa ¥ 98 3ok R #iF @ 2

Ans

Q43

Ans

Q.44

Ans

e R

[ Z

Feax =

A B C D

The given Problem Figure is embedded in one of the given Answer Figures. Which is that
Answer Figure?

Problem Figure

[ Z

Answer Figures

A B C D
‘-'j1. A

~<, B
X3 C
4D
60 IH He & A&l I @Ear a4r gef?

How many moles are present in 60 g of He?
25 Hrer

KL 25 moles
10 Hre

?’\'2. 10 moles
12 At

K3‘ 12 moles
15 dre

!f'4.15moles
3T TA&eT & IU H{ A 8T 71T ofeg &7 TEr UuT gfafes 2irar gl
INSTITUR3I

Select the option that depicts the correct mirror image for the given term.
INST1ITUR3I
X1 IEYNLTLISNI

X, IN21T1NB3I

Question ID :9864495107
Status :Answered
Chosen Option :1

Question ID :9864494918
Status :Answered
Chosen Option :4

Question ID :9864495074
Status :Answered
Chosen Option :3
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Q45

Ans

X, 1EAUTITZAI

v, IM2LT1NE3]
Tt fwedt & & smuifaes Bl - IUPAC A1 - T 718 3 7ad 3¢ I+ |

Select the INCORRECT set of Molecular Formula — IUPAC Name — Commeon Name
from the following options.

C,H;OH — SAAToT—SUTSeT Toshlglel
1 C,H;OH — Ethanol — Ethyl Alcohol

C,H,OH — SIIaATer— STTSel Teehlgiel
+', C;HgOH — Propanol — Propyl Alcohol

C,H,OH — SEHTel— SUETSH TehIgiar
# 3 C4Hy0H — Butanol — Butyl Alcohol

C H,OH — HfATer - Hemge vemigier

/4 C Hz;OH — Methanol — Methyl Alcohol

Q46 S Tomégs & 0.23 TR AT AT 472 THS, TF g F 3R W A &,

Ans

Q.47

Ans

Q.48

Ans

Q.49

Ans

ar SH YR 99 T H e H Fas fOger gei?
When 472 pieces of plywood, each 0.23 cm thick, are piled on top of each other, what
would be the height of the pile in metre?

?{.1, 10.856

?(.2, 108.56

<3 1.856

¥4 1.0856

T 10 freiex wfar oer @ aifd & 39 o & Fper & AR Aar g AK 5
fee 38 @ 9g=ar &1 oY 97 3 Rraher wfa ger & sl ify wer gar 2,
ar 9 w4 fAee Fed Hg'ﬂ ST g1 38H ° AN Fgor & o= Hroglr
ooty 82

Jai travels from his house to school at a speed of 10 km/hr and reaches late by 5 minutes.
If he increases his speed by 3 km/hr, he will reach the school 4 minutes early. What is the
distance between his house and the school?

4.8 freitAeT
# 1. 4.8km
2 et
< 2km
6.5 fehaildeT
¥3 6.5km
2.5 foelAReT
X4 2.5km
'-‘Jlﬁ' cosecB+cotH=2 ET ar cosecf="?

If cosec 6+ cot © =2, then cosec 8 =7
X1
x5 2
<315
w4125

faee Teaaa $ gger Afger amwe o oo FE o=y & vl
ofi?
To which dynasty did the first woman ruler of the Delhi Sultanate Razia Sultan belong?

Question ID :9864494962
Status :Answered
Chosen Option :2

Question ID :9864494831
Status :Answered
Chosen Option :2

Question ID :9864494840
Status :Not Answered
Chosen Option :--

Question ID :9864492737
Status :Answered
Chosen Option :1

Question ID :9864492097
Status :Answered
Chosen Option :4
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" TG
| Slave Dynasty
o=t T=tEer
<, Khilji Dynasty
HTT For
=
#<3 Mughal Dynasty
airefr TrerEer
4 Lodhi Dynasty
Q30 st & R v FEltE S & IR W IS FE & 99T B

27 : 65 ;1 64

Select the missing number based on the given related pair of numbers.

27:65::64:
Ans X 1. 125
v, 126
<3127
<4 124
QS afaf@a & & fraer suaer s dorR &= & BFar sar 87
Which of the following is used in the preparation of vinegar?
]
KL Ethanol
AT
Kz‘ Methanol
vfafes ofds
V'3 Acetic acid

=S vfe

?"\"4, Ethanoic acid

wjjalalje

A B C D
37 T & 99 ® S THE & FEAd A6 ¢ |

Select the figure that does not belong to the group.

Al

A B C D
Ans &1 C

XD
X A
v, B

Q33 3 ereg 1 IO L A THE H A UG F TG FH FAS 7

Choose the word which is least like the other words in the group?

Ans

Q.52

Question ID :9864494748
Status :Answered
Chosen Option :2

Question ID :9864493334
Status :Answered
Chosen Option :3

Question ID :9864494799
Status :Not Answered
Chosen Option :--

Question ID :9864495033
Status :Answered
Chosen Option :3
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Ans

Q.54

Ans

Q.55

Ans

CEl
| Big
feremer
<, Large
)
o5 Supreme
EIEl
?"\"4, Broad
1 Sl 2018 &t =it 3R 39T e 8t F goa RfRaw & feeeh W 9
fohe & AR Siid @ | 2017 W b TAe siia & &a foebe &

o gfogre samar ar?

Which cricket team created history by winning the 2017 Ranji Trophy tournament with a
thumping 9-wicket win over Delhi at the Holkar stadium in Indore on the fourth and
penultimate day of their final on 1 January 20187

3ol g&eT

< 1. Uttar Pradesh
ECe)

> Vidarbha
AT

2

2{"3. Gujarat
LML I
K4. Hyderabad
faw v arrt @ wE A ge Ao |, F et @ e @ sy arfdes w
¥ HTHOT FI £

CICN

o W a9 A §, $o a9, gl @ g1 W gt 9w ¥, Wl 9w A @
gl

a

s

1: o FT, T & &

2: FT &e, T @S &

Consider the given statements to be true and decide which of the conclusions logically

follow(s) from the statements.

Statements:
Some lions are tigers; some tigers are elephants. All elephants are monkeys; all monkeys
are humans.

Conclusions:
1: Some humans are tigers.
2: Some monkeys are tigers.

Faer sy 2 JHepEToT T B

#<1 Only conclusion 2 follows.
sy 1 3l 2 @ s = 8

%> Both conclusions 1 and 2 follow.

Question ID :9864494400
Status :Answered
Chosen Option :2

Question ID :9864495126
Status :Not Answered
Chosen Option :--
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Q.56

Ans

Q.57

Ans

Q.58

Ans

Q.59

Ans

Fael oy 1 IFFET A g

#<3 Only conclusion 1 follows.
T 1 3T 2 AT FEAT B

K4, Either conclusion 1 or 2 follows.

w% @fFd §g ‘O & 9l A % Far § AR Bg A a% wgEe & w20 Question ID :9864495036

Status :Not Answered

fareltdey 93 & 3 Jrar g, 5T are 73 sar § 3k fig ‘B g uwgEs & Chosen Option -
fow 10 fareieliex wrerar 2, i are 7z =ar § 3R g 'C g% 9gee & R

9 fareieiey =erar g, T a7 73 arar § ik Rig ‘D a% wg=a & v 5

fareiatier =rerar &, T AW Jg3 =1ar § 3k Rig E @ d= ¥ v 12

faretieiie =reram 7 3K O 2w 713 =rar & #R g F a% 9= & fov 6

et TerT 2

fig ‘A 3k g D & §9 w7 & FA g0 o 22

A man starts from point ‘O’, travels 20 km towards East to reach point ‘A’, turns right and
travels 10 km to reach point ‘B’, turns right and travels 9 km to reach point ‘C’, turns right
and travels 5 km fo reach point ‘D’, turns left and travels 12 km to reach point ‘E* and
then turns right and travels 6 km to reach point ‘F°.

‘What is the shortest distance between point *A’ and point *D*?

X1 517
&5 13

<3 V18l
¥4 V106

X #r & 39 & 1547 § 3T Fem A& Fel 40 O gl FET H X fr i & Questionggaiq94729

ID:
aﬁm iﬁ‘_' %.: gtétstsl:riAnswered
X’s rank is 15th from the top. and in total. there were 40 students in the class, then X’s ©ption:
rank from the bottom in the class is:

~<1.25
v, 26
<3 27
<4 24

T wEfehe AR 5 f&we # 500 Hiex @ gff a7 war ¢ | g wEfFe gean Question ID :9864494595

Status :Not Answered
wﬁﬁmmﬁﬁﬁm%ﬁ%#qﬁ(maﬁ)m Chosen Option :--
FHET ?

A cyclist covers 500 m in 5 minutes. What distance (in km) would the cyclist cover in half
an hour if he travels at the same speed?

<16
#3000
~<3. 30
vy 3

forre & ¥ ST T CeAEA Ty T wifag gar 7 Question ID :9864495006

Status :Answered
Which of the following enzymes is secreted by the pancreas? Chosen Option :2

T (Lactase)
Kl‘ Lactase

feaer (Trypsin)
W, Trypsin

ATees (Maltase)

?"\"3, Maltase
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gﬁm (Sucrase)

K4, Sucrase

Q.60 fFr=faf@d el ¢ 3 aF & & QU 71T Fuat & & Fld G 9 3cat & & AT

Ans

Q.61

Ans

e §E

ware:
TR @R, U, V, W 3R X IR FART Bl & v PR W 9ed S61, 9l U
37T T&eT 9T Uil hiam, ofdhe =87 oA & wgT W g & yedia i

HY:
1.2 1 oall & o giar § 3 X 3mrel G geeler edr g1
2. U, 3 Bl F 96 @l Hal 5; U 31 V & 9e2ial & &g s Uh Ig2id L gl

Read the following question and decide which of the given statements is/are sufficient.

Question:
Four magicians, U, V, W and X, will perform at a theatre on four consecutive days, each
on a different day but not in the same order. On which day will W perform?

Statements:
1. Show starts on the 1st of Feb and X performs on the next day.
2. U doesn’t perform on the 3rd of Feb; one of them performs between U and V.

1 31 2 =t | FHee ware #1 Ieak & & v g2t €
+'| Both 1 and 2 together are sufficient to answer the question.
TRe T 3cak ol F folw AT ar 1 a1 2 9T §
<, Either 1 or 2 is sufficient to answer the question.
3ebel 1 TeT § Safd e & 3cck &t & [T 2 3/hel w=Aed =781 21
<3 1 alone is sufficient while 2 alone is not sufficient to answer the question.
Jhet 2 RATed § STaf Fard &1 3cal ¢ & fow 1 37eher 9aTeT 5T B
r.9 4 2 alone is sufficient while 1 alone is not sufficient to answer the question.

— @ Hadl cFeT & ¥ forEr Jar &

300

1 . . . .
300 written as a recurring decimal is:

#<1.0.03

# 5. 0.0003
'3 0.003
<4 0.3

Q62 Ffy g w=err 4 fAwe # 600 =¥eaT & & W 20 HeX H g T FAT E,

Ans

Q.63

A TI=F IR WUa & oafed Fr AT e g7

If a boy covers a distance of 20 metre in 4 minutes with a force of 600 N, then the power
consumed by the boy is:
50 a1
v 50W
100 =
X2 100W
25 T
X3 25w
80 T
X4 80W

Question ID :9864495144
Status :Not Answered
Chosen Option :--

Question ID :9864492920
Status :Answered
Chosen Option :4

Question ID :9864494612
Status :Answered
Chosen Option :2

Question ID :9864494985
Status :Not Answered
Chosen Option :--
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Ans

Q.64

Ans

Q.65

Ans

Q.66

Ans

ffofla & ¥ gEer & v Fia @ Fua a7 781 8?2
Which of the following statements is NOT true of Meiosis?
ST & =]Oit F gar g
<1 Meiosis takes place in two phases.
v,
3EEUT & aRuTAEEEEY, SROTAT Freit & aqorgst F F@T @ I @ S g
As a consequence of Meiosis, the number of chromosomes is doubled in the resulting
cells. ) )
S A (TE) F FOFIT TIAF & 3oeA & T @ g
#<3 Meiosis takes place in gonads for production of gametes.
HIGAT F N, FAAh FRIT & AT aRkome Frei F BET @ 7 §
/< 4 During Meiosis, the genes of the parent cells are mixed in the resulting cells.

30 BT & 99a w S afai@a g # i a8 g

CPE (@

A B Cc

Select the figure that does NOT belong in the following group.

>0 (@

A B C D
~1.C

v, D
<3 A
<4 B
) fGU 910 Ael & FHE ¥ 39 AT & 99 H ol Hel g1 @il o

(2,14,16), ( 6,30,36), (5,35,40), (3,21,24)
Select the set that does NOT belong in the following group of sets.

(2,14, 16), ( 6,30,36), (5,35, 40), (3,21, 24)

X, (5,35,40)

v, (6,30,36)

X3 (3,21,24)

X, (2,14,16)
frrfafea # & #ia o Rwsa @ @ 3cdes & FFar 872

Which of the following can reproduce by fragmentation?
QEEy

r.9 | Hydra
LEIGIES )
Kz‘ Planaria

FATEIFIRRT

«'; Spirogyra

Question ID :9864495102
Status :Not Answered
Chosen Option :--

Question ID :9864495136
Status :Not Answered
Chosen Option :--

Question ID :9864493537
Status :Not Answered
Chosen Option :--
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ECreiey
?("4,Yeast
Q67 Fuliesh TIFR H g & H Feald TFHR & T 3aT e & F A

& dEd T9egd difeid dgel $ TG & ol Ay Wed g5 &7

The Karnataka government has recently received the approval for purchase of electric
vehicles from the Department of Heavy Industries of the Union Government under which
scheme?

a7 sfEar wfemEsss
# 1. NAME India subsidised
o 2 e
5. Rural India subsidised
%A sfEar wfenssss
'3 FAME India subsidised
Y7 =2 wfedsE==
4. Pan India subsidised
Q68 o ¥ 12 3Fgex 2017 1 % el & IGl ¥ TN & & R &9 &

fohaey TUT UGk & WY 9 dlforedl A TUH T 9reg &ar?

India topped the medals tally with how many gold medals in the Track Asia Cup at the IGI
Sports Complex in New Delhi on 12% October 2017?
Ans ¥ 7
X2 9
X3 6
x4 2
U89 yeges fherss F SRAT AW F F=F F AF 94, = F wF guE T T

"~

FH A T HAEH T Torfed A-HT HFY, TU8T & Haltaes 376 9rod
e SRS 3R 8w gifeer ST wiaemst &1 g Fam
Name the Indian-origin boy in United Kingdom who became the youngest applicant in a

decade to achieve the highest score in the Mensa IQ test, beating geniuses such as Albert
Einstein and Stephen Hawking.

TH. afay snfeaar

<1 M.Tenith Adithyaa

Agel T
', Mehul Garg
aiash HFEH
K3. Tanishq Abraham
Hpd FHATS
K4. Akrit JTaswal
Q70 34, 85 3l 102 = &.¥. T
Find the LCM of 34, 85 and 102.
Ans /1 1020
<. 340
¥3 510
4 680

Ans

Q.71

Question ID
Status
Chosen Option

Question ID
Status

Question ID
Status

Question ID
Status

Question ID
Status

19864494418
:Not Answered

19864494389
:Not Answered
Chosen Option :

9864494393
:Not Answered
Chosen Option :

19864494892
:Not Answered
Chosen Option :

19864494862
:Not Answered
Chosen Option :
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U% 99 3% H 4 U H 5T AT §, Teg UF W F FWOT, &F 5 " H @
ST 1 Y g¢ &% Wrelr et # e @ faer gaw a@em?
A pump can fill a tank in 4 hours, but due to a leak, the tank now gets filled in 5 hours.
How long will it take the leakage to empty the tank when it is full?
9 W
| 9hours
45 g¢
5 4.5 hours
1 wer
7<3 1hour
20 @
74 20 hours
Q.72 30 AeeT &1 937 ﬁ =t FJ=r %Q' EERE:] =g s F 'Hﬁ' TE o o9 Question ID :9864495014

Status :Not Answered
STTE] Chosen Option :--

UYL

KA
iVE
Select the option that will correctly fit in the blank space in the following figure.

Y/
/¢ ?

Ans

Ans
v

x>,

3,

X4,
Q.73 BJASKEG4OC1659NLEPUF Question ID :9864494803
Status :Not Answered

F9T &1 IS AWl H &IC § &I, %A & aol &7 O ST T HEAT el & Chosen Option
oraed wgen 3R iR gElh FEw 2

5JABK6G40C1659NLEPUF
In the above series from left to right without changing the order the number of pairs of
terms such that 1# is alphabet and 2™ is a number are:
Ans ¥ 4
<o 1
<32
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x4 3

Q74 C agpar &g arer FHT ader aIUT & Bw fog F W W fedr famm & Question D :9864494693
. . Sta.tus :Not Answered
sfafees & Tt & afafla # & &9 a1 Fua o g g2 Chosen Option :--

With a Concave mirror (Centre of curvature), when an object is placed at the Focus (F),
which of the following applies for the image?

ﬁﬁﬁmﬁﬁ,m,?@%mﬁagﬁﬁﬁ?mwm

«| Real, inverted, highly enlarged image at infinity
X2,
sfafers areafas, 3oa1, 8g & 3R ¥ o AR C 3K F & #7eg saem

Real, inverted, diminished image between C and F

wfafers aeafas, 3ea1, a5 & 3R @ 9gd ol AN F 9 &=

2'("3‘ Real, inverted, highly diminished image at F
wiafera areafas, 3ee1, 8] & MHR & sUaL 3T C 9T F=9m

<4 Real, inverted image of the same size at C

Q7 gag & 6:43 a1 B¢ H G N fAee # g3 & & a9 =T Hior H A Question ID ¢;1i4494543
ﬁ BT-'TI' ? Status :

‘Answered
Chosen__
What will be the measure of the acute angle formed between the hour hand and the minute Option :
hand at 6:43 a.m.?
Ans | 5B6.5°

<, 21.5°
x5 78°
x4 56°

Ans
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